
LH-ROOF

PARTS AND SUB-ASSEMBLIES OF PENTHOUSE

PAGE-1

MID-ROOF

END CONNECTION 
CLIP

LOUVER-S1 LOUVER-S2

PENT HOUSE 

       3/8-16  
NUT ZINC PLATED

ROOF DEFLECTION BEAM

RH-ROOF

#12-3/4-SELF DRILLING

 SUPPORT STRUCTURE

3/8-16 X 2-1/2"
HEX HEAD BOLT

3/8 WASHER

#8-15-3/4"-SELF DRILLING

3/8-16X1-1/2"
HEX HEAD BOLT

MULLION CORNER 

WWW.VENTEXINC.COM
TEL (905) 857-4700
PH-IOM-REV1
NOV-2023



A

S1-A

S1-B

DETAIL A

SCALE 1 : 5

BOLT S1 LOUVERS 
TOGETHER

3/8-16X2-1/2" BOLTS

MULLION CORNERS POSSIBLY
ASSEMBLED AT THE FACTORY

S1-AB

S2-B

B

DETAIL B

SCALE 1 : 3

#8-15-3/4" SELF TAPPING 
SCREW

S2-A

1 2

ALL THE REQUIRED HOLES NEEDS 
TO BE BOLTED AND SCREW WITH 
THE CORRECT SIZE OF BOLTS,NUTS 
AND SCREWS

WWW.VENTEXINC.COM
TEL (905) 857-4700
PH-IOM-REV1
NOV-2023

PENTHOUSE ASSEMBLY INSTRUCTIONS



C

S1-AB

S2-A

S2-A

S2-B

S2-B

E

H

S2-AB

S2-AB

S1-AB

DETAIL C

SCALE 1 : 10

3/8-16 X 2-1/2"
BOLTS

DETAIL E

SCALE 1 : 12

SCREW BOTH THE SECTIONS OF LOUVER
AND SUPPORT STRUCTURES WITH THE 
END CONNECTIONS 

#8-15-3/4" SCREWS

F

DETAIL F

SCALE 1 : 7

G
DETAIL G

SCALE 1 : 25

DETAIL H

SCALE 1 : 7

THE VERTICAL SUPPORT CHANNEL IS
BOLTED WITH 1/4"-20 BOLTS FROM
THE TOP AND THE BOTTOM SECTION OF
SUPPORT STRUCTURES 

3 4

ALL THE REQUIRED HOLES NEEDS 
TO BE BOLTED AND SCREW WITH 
THE CORRECT SIZE OF BOLTS,NUTS 
AND SCREWS

S2-AB BOLTED TOGETHER 

WWW.VENTEXINC.COM
TEL (905) 857-4700
PH-IOM-REV1
NOV-2023

PENTHOUSE ASSEMBLY INSTRUCTIONS



S1-AB

S1-AB

S2-AB

S2-AB

X
S1-AB

S2-AB

S2-AB

DETAIL X

SCALE 1 : 4

Z

3/8-16 BOLTS

1/4"-20 BOLTS

AA

S1-AB

S2-AB

1X1L

ALL THE REQUIRED HOLES NEED
TO BE BOLTED AND SCREWED WITH 
THE CORRECT SIZE OF BOLTS ,NUTS 
AND SCREWS

AB

5 6

PENTHOUSE ASSEMBLY INSTRUCTIONS

PAGE-4

#8-15-3/4" SCREWS

WWW.VENTEXINC.COM
TEL (905) 857-4700
PH-IOM-REV1
NOV-2023



Q

S2-AB

S2-AB

S1-AB

S1-AB

#12-3/4"SELF TAPPING

S1-AB

S1-AB

S2-AB

S2-AB

ALL THE REQUIRED HOLES NEED
TO BE BOLTED AND SCREWED WITH 
THE CORRECT SIZE OF BOLTS ,NUTS 
AND SCREWS

Y

SCREWED TO THE H/S
AND JAMB OF THE LOUVER

#8-15-3/4" SCREWS
AC

7 8

PENTHOUSE ASSEMBLY INSTRUCTIONS

PAGE-5

3/8-16 X 2-1/2''
BOLT

WWW.VENTEXINC.COM
TEL (905) 857-4700
PH-IOM-REV1
NOV-2023



T
AB

DETAIL T

SCALE 1 : 2

#12-3/4" SELF TAPPING SCREW

ALL THE REQUIRED HOLES NEED TO BE  
BOLTED AND SCREW WITH THE CORRECT
SIZE OF BOLTS,NUTS AND SCREWS

COMPLETE ASSEMBLY OF PENTHOUSE

S1-AB

S2-AB

S2-AB

S1-AB10

ALL THE EXPOSED SCREWS HAVE A 
RUBBER GASKET TO PREVENT LEAKAGE

W

R2

R1

SCREW ALL THE 
ROOF PANEL TO THE HEAD
OF THE LOUVERS

R3

S1-AB

S1-AB

S2-AB

S2-AB

PENTHOUSE ASSEMBLY INSTRUCTIONS

DETAIL W

SCALE 1 : 5

ROOF GETS
INTERLOCKED

Y

DETAIL Y

SCALE 1 : 7

#12-3/4" SELF TAPPING SCREW

INTERLOCK
 10"-16"  
SPACING

DETAIL AB

SCALE 1 : 5

ROOF FLANGE REQUIRES 
MINIMUM 2 SCREWS PER PANEL

CAULK ENDS (WEATHER SEAL END JOINTS)

9

PAGE-4

VENTEX DO NOT TAKE THE LIABILITY FOR MOUNTING OR 
THE DAMAGE THAT OCCURS DURING THE MOUNTING OR
INSTALLATION OF PENTHOUSE

WWW.VENTEXINC.COM
TEL (905) 857-4700
PH-IOM-REV-1
NOV-2023


	PH2425B SHEET 1.pdf
	Sheet3
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View66
	Drawing View87
	Drawing View88
	Drawing View89
	Drawing View90
	Drawing View92
	Drawing View94
	Drawing View96
	Drawing View97
	Drawing View98
	Drawing View99


	PH2425B  SHEET 1A.pdf
	Sheet1
	Drawing View1
	Detail View A (1 : 5)
	Drawing View3
	Drawing View4
	Detail View B (1 : 3)


	PH2425B  SHEET 1B.pdf
	Sheet1
	Drawing View1
	Drawing View2
	Detail View C (1 : 10)
	Detail View E (1 : 12)
	Drawing View7
	Detail View F (1 : 7)
	Drawing View9
	Detail View G (1 : 25)
	Detail View H (1 : 7)


	PH2425B  SHEET 6A.pdf
	Sheet7
	Drawing View71
	Drawing View83
	Detail View X (1 : 4)
	Drawing View89
	Detail View Z (1 : 5)
	Drawing View92
	Detail View AA (1 : 2.5)
	Drawing View94
	Detail View AB (1 : 4)


	PH2425B  SHEET 6B.pdf
	Sheet7
	Drawing View61
	Detail View Q (1 : 10)
	Drawing View85
	Drawing View89
	Detail View Y (1 : 4)
	Drawing View94
	Drawing View96
	Detail View AC (1 : 6)


	PH2425B SHEET 4.pdf
	Sheet8
	Drawing View78
	Detail View T (1 : 2)
	Drawing View80
	Drawing View81
	Drawing View82
	Drawing View90
	Detail View W (1 : 5)
	Drawing View93
	Detail View Y (1 : 7)
	Detail View AB (1 : 5)



